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I Continuation of analysis of 2) nwn — animal falling due to sound of digger (who's widening the 113) - 1120 Yya is fully liable
a  Challenge: why isn’t the widener (partially) liable?
b  Answer: follows 11 "7, who holds that all parties have full liability and if you can’t collect from one, collect all from other
i Explanation: can’t collect from widener, since he’s only guilty of 1pr 07 — no liability

¢ Support: in case a MW pushes another M into a Na:
i 7227 owner of MW pays all, owner of 111 is exempt
ii 27 each pays Y2
1 challenge: 1n1 77, elsewhere, rules that the 1120 Yva pays Y2 and the 1ywn 5va — %4 (and the pri loses V4)
2 resolution: that case is in re: a bn MW; the 1% ruling is in re: TN MV
(a) explanation: he maintains that each is liable for full damages = each pays 2
(i) however: the (mn) MW Yva says to Man Yva that he gained nothing from their mamw if he still pays V2
(i) alternatively: pr gets what he can from 1vwn Yva (1/2) and gets the rest from 71an Yya -
1. explanation: 11 "1 maintains that liability is fully shared
(iii) note: 1321 disagree, assigning full liability to 1% pm (there, 1mwn Yy3; in our case, the widener - both 1109)
d w27 if A puts a rock in front of B’s 12 and a 1w trips over it and falls in — the consequences are subject to the same dispute
i challenge: this is obvious
ii  answer: R"10 that unlike that case, where the 11270 Ypa can say to Mwn Yva — without my M3, your mv» would’ve hurt him
1 However: in this case, A may argue that without the 113, his rock would’ve done no damage
2 5"pp. that the 7120 Yva counters that without the rock, the 19w wouldn’t have fallen in
e tangential dispute: if 2 DMWY, one PYTYINN *910a and the other P9I, together gore another 1w, how much does P9 n pay?

i version #1: »an. Vo, K237 Va
1 explanation of dispute (#1): both are on 11, »aR follows 1" (shared liability), 127 follows 1121
2 explanation #2: both are 1117, X127 - ON; YIR — TVIN
ii  version #2: »an: Yo, N»27: full payment
1 explanation of dispute (#1): both are 791 MW, »ar follows 1 (shared liability), X317 follows 13127
2 explanation #2: both are jm1 "1, X127 - TYIN; »IR — DN
II  x17's presentation of the unique liabilities of TR vs. W vs. M1 (case: if a man and ox pushed something/someone into a M2)
a  all 3 share liability: damages
b only o7x: 4 payments and mTon mnT
¢ only 1991 and 30 for Tay
d o7 1w (not 713): damages to 0’9 and to PWTRINN D2 NW
i reason:v.2—1> > nnm (as per R17's interpretation)
ii  challenge: X271 himself asked whether there’s liability for pw1pnn o108 MW in a Ma:
1 lemmal: does our verse exclude? OR
2 lemma?2: our verse is used to teach that the owner has responsibility for the carcass (and depreciates on his watch)
iii answer: he identified v> n’i» nnM in re: MW *p1y; teaching 211 WYavN WHY3I; since there’s no blanket exemption in re: MW
I Analysis of 3' clause in nwWn — exemption for damage to 0’93 in a 111 —as per v. 1 — 093 k% 1N
a  Note: this is contra n'Ti» " who finds for liability for 1122 0% *p12 - v. 1 - includes 0’92
i a7 wis used to mark each as separate — such that if only an ox, e.g. falls in, there’s liability
1 > infers from %93; 1327 read Yan as referring to many animals at once
2 question: why not read a1 — %%2; Im MW — V18 = only includes MMM MY (V192V NN RHR H9I1 PR VIN H9I)
3 answer: YW’ Man YY1 is a closing-993 > Y971 vIM Y93 we follow the lead of the v1a — all living things
(a) Challenge: why not add that the v1a is an animal with n%2) Rwn nrMY > excluding birds?
(b) Answer: then, it should have only listed 1 v79 (17w OR 11n)
(i) Block: neither would have led to other (71w is nar 3"y 29p, 719N has 21 NVITP)
4 Rather: 5 i nnm = all mortal beings
(a) Question: to both 1137 (who exclude ©93) and »™ -o'%3 aren’t “mortal”
(b) Answer: their breaking is their “death” (and, for 23, new "% could be affected by noxious air)
(i) Challenge: 5 > nnm is used to exclude PWTPINN Y2108 MW (as above)
(if) Rather: ¥5pa% v qud - anything which has an owner
5 Question: according to »”1, what does 7mn exclude (to 1337 — excludes ©93)? ®Wp (as well as "NY” in R:22 ©M2T)
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